ct (cm) | YieldinBin A YieldinBinB  YieldinBinC  Yield in Bin D
10 0.757 £0.017 3.414 £ 0.035 1.714 +0.025 0.376 £ 0.012
50 0.884 = 0.013 3.337 £ 0.025 0.580 == 0.011 0.147 = 0.005
100 0.585 £ 0.015 2.062 £0.029 0.718 £ 0.017 0.197 £+ 0.009

200 0.339 £ 0.011 1.120 = 0.020 0.565 £+ 0.014 0.164 = 0.008
400 0.156 £ 0.008 0.545£0.014 0.331 £0.011 0.089 £ 0.006
600 0.084 £ 0.006 0.371 £0.012 0.245+£0.010  0.0624 £ 0.0050
800 0.070 = 0.005 0.244 +=0.010 0.174 = 0.008 0.0442 £ 0.0043
1000 0.0446 +0.0042  0.199 + 0.009 0.141£0.007  0.0369 +£ 0.0037
1200 0.0444 +£0.0041  0.165 % 0.008 0.115+0.006  0.0312 £ 0.0033
10000 0.0041 £0.0013  0.0329 +£0.0035 0.0144 £ 0.0023  0.0009 + 0.0005




